TE(XH) 4 RETE88E MERENRSHR ERHRISE

5 l =] FH5E10H27H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MO 12,628,000 (Fi$k)

= 1§ | BB i & &
i B 1K) 11,365,000 (Fi$k)

* AL EFERARRE D5 S (T REFH RMERETY

1 (¥R) tE 2 11,365,000 h:E
2 (B) VT LSHE 11,365,000 O h:E
3 (A) ARFAER 11,365,000 h:E
4 () &XREK 12,628,000




ITE(%%)% RETEE46E SHSEE HARELOMEFRFESRE =M (ERLE) IS
BA #l =] SH54%E10827H

I 8 B % TR—=K

A oA R — R E AL

¥ OE % 12,357,000 (Fi1k)

& & &l [R i 4&
(FR & &AM

11,121,000 (F2$k)

* AL EFERARRE D5 S (T REFH RMERETY

1 (B) mARER 11,121,000 O
2 ()T LFHE 12,000,000
3 (%) T4 12,357,000




IH(%%) 4% HRETE4HE MERPEEI1SHEIS
B A =] 454108278

I & B # 20N

A HoAm R — AR E AR

F OE O O#% 2,091,000 (Fi#k)

& 1K i [R i 4%
(FR & &AM

1,881,000 (Fi3k)

* AL EFERARRE D5 S (T REFH RMERETY

(%) THEXR 1,881,000 O




T2 (%%B)4% EREtEE895S MEXAIFR ERBERISE
B A =] 454108278

I 8 B % TR—=HK

A HoAm R — AR E AR

¥ OE % 43,564,000 (Fi#k)

B 15 I R i 1 39,207,000 (Fik)

(FR & &AM

* AL EFERARRE D5 S (T REFH RMERETY

1 (A)EREXR 39,207,000 2
2 KEEFH (B 39,207,000 HE
3 KIBEEK (¥ 41,800,000




TE (254 ?é?i%% RISEE RMBMERHRESTE ZRF4 X THHIRE
M A B SH5410827H

I 8 B % TR—=HK

A #H oA R — RS A KL

F OE O O#% 7,119,000 (Fi#k)

%‘%2 gﬁ_ﬂ 1%%"% 6,407,000/ (%i$K)

* AL EFERARRE D5 S (T REFH RMERETY

(B) ARHESR 7,119,000 O




IE(X%B)4% HRETEIIET HMRSEMERX ~OMBSEFE(BHEM TSE
B 4 B £F5410827H

I 8 B % TR—=HK

. Y B ¥ —HEBE S AL

F OE O O#% 3,745,000 (Fi#k)

%‘%2 gﬁ_ﬂ 1%%"‘% 3,370,000M (F:4K)

* AL EFERARRE D5 S (T REFH RMERETY

(B) ARHESR 3,370,000 O




